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MARKS: 150 

 

SYMBOL EXPLANATION 

M Method 

MA Method with accuracy 

CA Consistent accuracy 

A Accuracy 

C Conversion 

S Simplification 

RT/RG/RD/RM Reading from a table/ graph/ diagram/Map 

SF Correct substitution in a formula 

O Opinion/ reason/deduction/example/Explanation 

J Justification 

R Rounding off 

F deriving a formula 

AO Answer only full marks 

P Penalty e.g. for units, incorrect rounding off etc. 

NPR No penalty for rounding / units 

  

  

This marking guideline consists of 10 pages. 
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QUESTION 1 [45 MARKS] 

Quest. Solution Explanation T & L 

1.1.1 

 

Taxable income per month = R 42 750 × 7,5% MA 

                                                    = R3 206,25 A 

 

                                           = R42 750 – 3206.25 M 

                                           = R 39543,75 CA 

 

OR 

 

Taxable income per month = 92,5% x R42 750 MA 

                                            = R39 543,75 A 

1MA  multiplying by 7,5% 

1A       pension contribution 

 

1M      subtracting pension 

1CA    taxable income 

 

 

 

2MA  multiplying by 92,5% 

2A       pension contribution 

(4) 

 

F 

L2 

1.1.2  Annual taxable income = R 39 543,75 × 12MA 

                                      = R474 525CA 

 

                            A 

Annual tax = 100 263 + 0,36(474 525 – 423 300) SF 

          = 118 704 CA 

          = 118 704 – (14067) MA 

          = 104 637 

          = 104 637 – (620) × 12 MA 

          = R97 197 CA 

 

CA from 1.1.1 

1MA   multiplying by 12 

1CA    taxable income 

 

1A correct tax bracket 

1SF amount above 

1CA answer 

1MA    subtracting 1 rebate 

 

1MA    subtracting medical  

 aid credit 

1CA answer  

       (8) 

F 

L3 

1.2.1 

(a) 

 

Rand/Dollar exchange = 
       

   
    

                                    

                                    = R14,157 A 

 

Rand/Pound exchange = 
       

     
 

                                     

                                    = R18,581 A 

 

 

 

1MA  dividing by 10 

 

1A      rands per $ 

 

 

 

 

1A  rands per £ 

                                           (3) 

F 

L3 

1.2.1 

(b) 

 

Pound is stronger by = R18,581 – R14,157 M 

                                  = R4,424 CA 

 

 

1M subtracting 

1CA   

NPR 

  (2) 

F 

L3 
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1.2.2 
Sbu’s buying power = 

       

   
 MA 

                                 = 712,50 burgers A 

 

Xolani’s buying power = 
      

     
 MA 

                                      = 413,15 burgers A 

 

Sbu’s has more buying power O 

 

 

1MA  dividing by R60 

 

1A      number of burgers 

 

1MA    dividing by £5,93 

 

1A      number of burgers 

 

1O      explanation                                   

NPR                                     (5) 

F 

L4 

1.3.1 North East RM 2RM reading from map  

            (2) 

MP 

L2 

1.3.2 31km RM 2RM reading from chart                             

                                             (2) 

MP 

TL2 

1.3.3  

Measure distance = 4,5 cm M 

 

Distance = 221+261 MA 

               = 482 km 

 

Number Scale: 4,5 cm = 482 km M 

  4,5 cm = 48 200 000cm C 

  1cm = 10 711 111,11 cm M 

  1: 10 711 111  CA 

 

Accept 2mm leeway 

1M measuring distance 

 

1MA    adding distance 

 

 

1M      concept of scale 

1C       multiplying by 100 000 

1M      dividing by 4,5 

1CA     simplification 

NPR 

                                             (6) 

MP 

L3 

1.3.4 Total distance = 205 + 71 + 174 + 118 + 87 RM                       

            = 655 km CA 

2RM reading from map                             

1CA total distance 

                                             (3) 

MP 

L2 
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1.3.5  

Time = 
90

655
  SF 

        = 7,277777778 

 

Minutes = 0,277777778 × 60 C 

              = 16,67 

              = 17 CA 

 

Total time = 7 hours 17 minutes CA 

 

 

Time at Destination = 7:45 + 7 hours 17 mins M 

                                = 15:02  

 

Statement is incorrect O 

 

CA from Q1.3.4 

 

1SF substitution 

 

 

1C       conversion 

 

 

1CA    minutes 

 

1CA    time in hours and    

            minutes 

 

1M       adding 

 

 

1O       explanation     

       

(6) 

 

MP 

L4 

 

1.3.6  

 

Number of litres = (655 ÷ 100) × 8  M 

                           = 52,4 litres CA 

 

Cost of Petrol    =  52,4 × R16,45 M 

                          =  R861,98 CA 

CA from Q1.3.4 

 

1M  multiply by 8 divide by 100 

1CA    litres 

 

1M     multiply by R16,45 

1CA    cost of petrol 

                                             (4) 

 

 

MP 

L3 

 

                                                     [45]  
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QUESTION 2 [33 MARKS] 

 

 

Quest. Solution Explanation T & L 

2.1.1  RT 

Deposit paid = R439 800 × 20% MA 

                     = R87 960 A 

 

1RT cash price 

1MA    multiplying by 20% 

1A       deposit amount 

(3) 

F 

L2 

 

 

2.1.2                                                     RT 

Balloon/Residual payment = R439 800 × 30% MA 

                                           = R131 940 A                           

1RT cash price 

1MA  multiplying by 30% 

1A      residual amount  

                                             (3) 

F 

L2 

2.1.3                                                 

Total Cost for Option 1 

                                                        CA                            

= (87960) + (R5699,90 × 72) + R131 940 SF          

= R630 292,80 CA 

CA from Q2.1.1 and Q2.1.2 

 

1CA  balloon payment 

1SF     substitution  

1CA    total cost 

        (3) 

F 

L3 

2.1.4                                           MA          

Total Cost Option 2 = R87 960 + (R6788,93 × 72)  

                                = R576 762,96 A 

 

Saving = R 630 292,80 – R576 762,96 M 

            = R53 529,84 CA 

Claim is incorrect O 

CA from 2.1.3 

1MA  adding correct values 

1A      Total option 2 

 

1M     subtracting totals 

1CA    total cost 

 

                                           (5) 

F 

L4 

2.1.5 YEAR 1 

                                         MA          

Interest  = R125 000 × 6,95%  

              = R8 687,50 A          

                           

Amount = R125 000 + R8 687,50  

              = R133 687,50 CA          

 

YEAR 2 

                       MA 

Interest = R133 687,50 × 7,25%  

             = R9 692,34          

                   

Amount = R133 687,50 + R9 692,34  

              = R143 379,84 CA 

 

Investment will cover residual amount   J 

 

 

 

 

CA from 2.1.2 

 

1MA    multiplying by 6,95% 

1A       correct interest 

 

 

 

1CA    total amount 

 

 

 

1MA   multiplying by 7,25% 

 

 

 

1CA  total amount 

 

1J      justification  

       

 

 

 

   F 

L4 
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OR 

MA          

YEAR 1: Amount = R125 000 x 1,0695 

                              = R133 687,50 A     

      MA          

YEAR 2: Amount = R133 687,50 x 1,0725           

                              = R143 379,84 CA          

      

Investment will cover residual amount   J             

OR 

 

2MA    multiplying by 1,0695 

1A    total amount 

 

1MA   multiplying by 1,0725 

1CA    total amount 

 

1J       justification       

(6) 

2.2.1 
 % change = 

14071

1407114050 
 × 100 

 

       =  – 0,15%A 

 

OR 

 

% Decrease = 
14071

1405014071
 × 100MA                                                                                  

                                               M 
 

       =   0,15%A 

 

1MA subtracting correct 

values 

1M      dividing by 14071 

 
1A     % decrease 

     

 

 

1MA subtracting correct 

values 

 

1M      dividing by 14071 

 
1A     % decrease 

                                             (3) 

DH 

L2 

2.2.2 Probability (fatalities in WC) 

=
14050

1236
× 100     

= 8,80%  CA 

 

 

2RT     reading from table  

     

1CA percentage  

 (3) 

 

DH 

L3 

2.2.3 Eastern Cape  RT  2RT correct province 

                                             (2) 

DH 

L3 

2.2.4 Dividing by a smaller value O 2O reason  

(2) 

 

DH 

L4 

2.2.5 
Free State % change =

992

972922 
× 100 

= –7,06% A 

 

OR 

Free S % Decrease =
992

922992 
× 100 

= 7,06% A 

 

1MA subtracting correct 

values 

1M       dividing by 992 

 

1A     % decrease 

OR 

                                                      

1MA subtracting correct 

values 

1M       dividing by 992 

 

1A     % decrease 

  (3) 

DH 

L3 

  [33]  

  

RT 

MA    

M 

 

MA    

M 

 

MA    

M 
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QUESTION 3  [38 MARKS] 

 

Quest. Solution Explanation T &L 

3.1.1 
Price of Uber taxi in 2017 = 

    
    

 MA 

                                          = R259,26 A 

                                          = R260 R 

 

1MA dividing R280 by 1,08 
 

1A      price in 2017 

1R      rounding up 

(3) 

 

F 

L2 

 

 

 

3.1.2 Price per km for Uber taxi = R280 ÷ 23 km MA 

                                           = R12,17 per km  A 

 

Price per km for Train = R9,50 ÷ 23 kmMA 

                                    = R0,41 

 

MCA 

12,17 ÷  0,41 = 29,68 = 30 times 

Claim is correct. O 

 

1MA    dividing by 23 

1A        price per km 

 

1MA   dividing by 23 

 

 

 

 

1MCA dividing by 0,41 

1O       opinion  

(5) 

 

F 

L4 

 

 

 

 

 

 

 

 

 

 

3.1.3 Convenient;  quicker; does not stop for other passengers 

Accept any reasonable answer O 

 

2O    explanation 

 

(2) 

 

F 

L4 

3.1.4 Number of trips per day = 15 000 000 ÷ 250 000 MA 

                                       = 60 A 

  

          MA 

Income = 60 × (14 × R16) × 31 M 

             = R416 640 

 

R25 000 =R416 640 – Total Expenses MA 

Total Expenses = R416 640 – R25 000 S 

                          = R391 640  CA 

 

1MA dividing by 250 000 

1A       number of trips per day 

 

 

1MA  multiplying 14 by R16 

1M     multiply by 31 

       

1MA  concept of profit 

1S     simplify 

1CA    total expenses 

                                        (7) 

F 

L4 
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Quest. Solution Explanation T & L 

3.2.1 
Average for road = 

12

000270293
  

= 24 439 166,67  CA 

    

Average for rail = 
12

000965174
 MA 

=14 580 416,67 

 

Difference = 24 439 166,67–14 580 416,67M 

                  = 9 858 750CA 

1MA adding correct values  

1M dividing by 12                               
 

1CA average journey        

 

 

1MA adding correct values  
 

 

 

1M subtracting     

1CA average journey 

NPR              (6) 

DH 

L3 

3.2.2 
R1 017 = 

12

A18611 
  

A = (R1 017 × 12) – R11 186  S 

A = R1 018 million or R1 018 000 000  CA 

 

1MA adding values 

1M dividing by 12 

 

1S simplify 

1CA answer 

   (4) 

DH 

L3 

3.2.3 36 379, 37 143, 37 479, 37 764, 37 772, 37812, 38213, 

38 226, 40 182, 40 643, 42 689, 43 933  MA 

 

Median = 
2

2133881237 
 

  = 38 012 500  CA 

1MA   arrange data from                         

 lowest to highest 

 

1MA adding 2 middle values 

M  dividing by 2 

 

1CA median 

 (4) 

DH 

L4 

3.2.4 Mean. O 

Mean takes into account all the values in the data set, O 

whereas the median only looks at the middle value O 

 

1O     answer 

 

2O     explanation 

(3) 

DH 

L4 

3.2.5 
Q3 = 

2

0006434000018240 
 MA 

      = 40 412 500  A 

 

Q1 = 
2

0007643700047937 
  MA 

     = 37 621 500 

 

IQR = 40 412 500 – 37 621 500 M 

        = 2 791 000  CA 

 

1MA   dividing correct values        

 by 2 

1A       Q3   

  

 

1MA   dividing correct values        

 by 2 

 

1M    substracting 

1CA   IQR 

(4) 

DH 

L4 

  [38]  

  

MA    

 

MA    

 

MA    

 

M   

 

M    

 

M   
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QUESTION 4   [34 MARKS] 

 

Quest. Solution Explanation T & L 

4.1.1 Volume in cm
3 

=1311,52 × 1000  C 

                         =1 311 520 cm
3  
A 

 

1 311 520 cm
3 

= 180,5 × 64 × BreadthSF 

 

Breadth =
645,180

1311520


 S 

 

Breadth = 113,531856 cm A 

 

Convert to metres = 113,531856 ÷100 C 

                              = 1,14m  CA 

 

Statement is incorrect  O 

1C conversion 

1A       answer in cm
3
 

 

1SF substitution 

 

 

1S        simplification 

 

1A       breadth 

 

1C       conversion  

1CA    answer in metres 

 

1O      explanation 

NPR  (8) 

 

MM 

L4 

4.1.2 Convert to kg   = 0,5 ×1000  C 

                         = 500 kg  A 

 

 

Number of bags = 500 ÷ 20MCA 

 

                          = 25 CA 

 

 

1C conversion 

1A answer in kg 

 

 

1MCA  dividing by 20 

 

 

1CA number of bags 

NPR 

   (4) 

 

MM 

L2 

4.1.3  

Volume = 210,5 × 113,531856 × 64  SF 

             =  1 529 249,642 cm
3
 

 

Convert to litres =  1 529 249,642 ÷ 1000  C 

                           =  1 529,25  

 

Difference = 1529,25 – 1311,52  M 

                  = 217,73 litres  CA 

CA from 4.1.1 

1SF      substitution 

 

 

1C convert to litres  

 

 

1M      subtracting 

1CA litres 

NPR          (4) 

MM 

L3 
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Quest. Solution Explanation T &L 

4.2.1 SA = L × W + 2(L × H) + 2(W × H) 

= 180,5 × 113,53 + 2(180,5 × 64) + 2(113,53 × 64) SF 

= 58 128,005 cm
2  
CA

  

 

Convert
 
to m

2 
= 58 128,005÷100

2  
C 

                       = 5,8128 m
2 

 

Number of litres = 5,8128÷0,5  C 

                           =11,6256 litres   

                           = 12 litresCA 

 

CA from 4.1.1 

1SF substitution 

1CA  surface area 

 

1C       conversion 

 

 

1C       conversion 

 

1CA    number of litres 

 (5) 

MM 

L3 

4.2.2  

Number of litres = 12× 2  MCA 

                           = 24 litres 

 

Number of 5 litres tins = 24 ÷ 5 C 

                                     = 4,8 

                                     = 5 tins 

 

Cost of paint = 5 × R659,99  MCA 

                     = R3 299,95  CA 

 

CA from 4.2.1 

1MCA multiplying by 2 

 

 

1C       conversion 

 

 

 

1MCA   multiplying by R659,99 

1CA       cost of paint                                                  

    (4) 

MM 

L3 

4.3.1 Population of SA in 2017  

                MA   MA 

=  (11,1 million × 100) ÷ 19,6 

=  56 632 653,06 people 

=  56 632 654A 

 

 

1MA    multiply by 100 

1MA    dividing by 19,6 

 

 

1A        population in millions 

NPR                 (3) 

 

DH 

L2 

4.3.2 Number of minibus taxi users in KZN 

=34,6% × 11 100 000  RG 

=3 840 600 CA  

 

1RG multiply by 34,6 

1CA       minibus taxi users 

                                                (2) 

DH 

L2 

4.3.3 Probability (not using a taxi, bus or train in GP) 

      M   MA 

= 100 – (43,9 + 5,3 + 6,3) 

= 44,5% A 

= 0,445 C 

           

 

1MA adding correct values 

1M      subtracting 

 

1A percentage  

1C decimal answer 

NPR 

 (4) 

P 

L2 

 

 

 

 

 

 

  [34]  
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